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nm 1m 1h 5m
Hh 5—X X = =0/083 x10°=8/3x10"11
) h 1097m °° 60min  10°X60 min / /
A
3.4mgr 1kgr 1010¢m? 3.4x1010kg 4 kg
. = =3.4%x10"—
(VB 2y900)0) T2 10°mgr 1km? 106 km? km?
o yeS Colwo=0.1x0.2 =0.02m? , m=pv = 7800 x (0.3 x 0.2) = 7800 x
0.06 = 46.8 kg q
) .. _F _mg 468
(o305 4,00 oz )P = 2= 21 ooz 23400 pa
1
wi m@2*-v1*) 36-9 27 \
_ 4 m 640gr gr kg
N-x3x2%=32cm® , =—= =20=—=2000—
3 cm p v 32cm3 cm3 m3
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T)Au=mg(h2 —h1) =0.02 x 10 x (0 — (—2.2)) = 0.44 ]
Y
(+.¥0 5,90,2)) Au=mg(h2 —h1) =0.02%x 10 X (6.6 —4.4) = 0.44 ]
E1=E2 - mghl=mgh2+;mv2? —9.8x4=98x15+;v% >24.5x2=
2 —
v: sv=7 T
JYeAN(
oy0i+,0W=—Au=-mg(h2 —h1) = -4x9.8x(2—-4)=784] (o
w mgh 100x10x5
m=pv=1000x0.1=100kg yP=7= f = . =
5000 w
\¥f
ol wsde 5000 2
o, alal 3L = = =-X100 = 669
(°)"” A ))‘é) 6 DAt JSO'S"” 7500 3 /O
(+,Y8) P35 = pgh + Plga
14

P35 = 13600 x 10 X 0.2 + 101000 = 27200 + 101000 = 128200pa
(o 1,YR)







